1000 ¢

100

Ignition delay time (T) / us

20%CH4,200%02,780%Ar P = 02 p 40atm

Aramco Mech 1.3 -
Aramco Mech 2.0 ——

5.40 5.60 5.80

6.00 6.20
10°K/T

6.40

6.60

6.80

ZO%CH4,206%02,774%N2,CI> 02p 40atm

100

Ignition delay time (T) / us

[ Aramco Mech 1 3=
L Aramco Mech 2.0 ——

5.80 6.00

6.20

6.40
10*K/ T

6.60

6.80



IO%CH4,208%O2,782%N2,CI> 0.1,p=4.0 aum

1000

100

Ignition delay time (T) / us

Aramco Mech 1.3 -
Aramco Mech 2.0 ——

6.60 680 7.00 720 740

10*K/T

580 6.00 620 640

4O%CH4,202%02,7581%N2,CI> O4p 40atm

100

Ignition delay time (T) / us

Aramco Mech 1.3 -
Aramco Mech 2.0 ——

6.20 6.30 6.40

10K/ T

6.00 6.10




